JAN 1 9 2006 KCC WICHITA

RECEIVED . KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

ORIGINAL

Operator: License # 3956	API No. 15 - 167-23311-0000
Name: Brungardt Oil and Leasing, Inc.	County: Russell
Address: P.O. Box 871	NE _SE _ Sec. 16 Twp. 13 S. R. 12 ☐ East West
City/State/Zip: Russell, Ks. 67665	1150' FSL feet from S / N (circle one) Line of Section
Purchaser: N/A	330' FEL feet from E / W (circle one) Line of Section
Operator Contact Person: Gary L. Brungardt	Footages Calculated from Nearest Outside Section Corner:
Phone: (_785) 483 4975	(circle one) NE SE NW SW
Contractor: Name: Shields Oil Producers	Lease Name: HEFFEL Well #: 1
License: 5184	Field Name: Wildcat
Wellsite Geologist: Brad Hutchison	Producing Formation: Lansing-Kansas City
Designate Type of Completion:	Elevation: Ground: 1629' Kelly Bushing: 1634'
New Well Re-Entry Workover	Total Depth: 3411' Plug Back Total Depth: 3411'
Oil SWD Temp. Abd.	Amount of Surface Pipe Set and Cemented at 347' Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Ory Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	
Well Name:	feet depth to DH -DA - 10 14 08 sx cmt.
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 30000 ppm Fluid volume 320 bbls
Plug Back Plug Back Total Depth	Dewatering method used Let Dry and Backfill
Commingled Docket No	
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name: _J. Carter Oil
11-2-05 11-9-05 11-9-05	Lease Name: Mudd License No.: 30876
Spud Date or Date Reached TD Completion Date or	Quarter_NESec. 6Twp. 15 _S. R. 14 East ✓ West
Recompletion Date Recompletion Date	County: Russell Docket No.: D-11735
Kansas 67202, within 120 days of the spud date, recompletion, workove information of side two of this form will be held confidential for a period of 1	the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, er or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 2 months if requested in writing and submitted with the form (see rule 82-3- and geologist well report shall be attached with this form. ALL CEMENTING. Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regula herein are complete and correct to the best of my knowledge.	ate the oil and gas industry have been fully complied with and the statements
Signature Hory X. Bergould	KCC Office Use ONLY
Title: Operator Date: 1-16-06	Letter of Confidentiality Received
10th	If Denied, Yes Date:
Subscribed and sworn to before me this day of	Wireline Log Received
20 Ola.	Geologist Report Received
Notary Public: Allu Notary Public:	UiC Distribution
Date Commission Expires: /D/23/2606	
CARLENE HAC NOTARY F STATE OF My Appt. Exp. 10	DIRLIC !

ORIGINAL

Operator Name: Brun	gardt Oil and Le	asing, Ind).	Leas	e Name:	HEFFEL		Well #: _1	
Sec. 16 Twp. 13	S. R. <u>12</u>	East	✓ West		ty: Russe				
INSTRUCTIONS: Shotested, time tool open temperature, fluid reco	and closed, flowing every, and flow rate	g and shut s if gas to	-in pressures, surface test, a	whether along with	shut-in pre	essure reached	d static level, hydr	ostatic pressur	es, bottom hole
Drill Stem Tests Taken (Attach Additional S	heets)	✓ Y	es 🗌 No		 ✓L	og Forma	tion (Top), Depth	and Datum	Sample
Samples Sent to Geological Survey ☐ Yes ✔ No			1	Name Anhydrite		Тор 563'	Datum +1071		
Cores Taken Yes V No			Tarkio Lime			2198'	-564		
Electric Log Run (Submit Copy)		√ Y	es 🗌 No		Торе	eka		2463'	-831
					Heel	oner		2696'	-1062
List All E. Logs Run:					Tord	onto		2716'	-1082
Radiation Guar	rd, Sonic				Lans	ansing ase Kansas City		2771' 3052'	-1137 -1418
					Base				
			·····		Arbu	ıckle		3142'	-1508
		Reno		RECORD					
Purpose of String	Size Hole		rt all strings set- re Casing	·	sunace, inti eight	ermediate, produ	Type of	# Sacks	Type and Percent
	Drilled	Se	t (In O.D.)		s. / Ft.	Depth	Cement	Used	Additives
Surface	12 1/4"	8 5/8"		23#		347'	Common	225	2%gel,3%CC
			ADDITIONAL	OFMEN	TINO (00)				
Purpose: Depth Tu			ADDITIONAL CEMENTING / SQL e of Cement #Sacks Used			JEEZE RECOF		_	
Perforate Protect Casing Plug Back TD Plug Off Zone	Top Bottom	туре	of Cement	#Sac	KS USED		Type and	Percent Additive	S
Shots Per Foot	PERFORAT Specify	ON RECOR	RD - Bridge Plu Each interval Pe	gs Set/Typ	98		racture, Shot, Ceme Amount and Kind of N		ord Depth
TUBING RECORD	Size	Set At		Packe	r At	Liner Run	Yes N	0	
Date of First, Resumerd	Production, SWD or	Enhr.	Producing Me	thod	Flowin	g Pum	ping Gas L	.ift Ott	ner (Explain)
Estimated Production Per 24 Hours	Oil	Bbls.	Gas	Mcf	Wat	er	Bbls.	Gas-Oil Ratio	Gravity
Disposition of Gas	METHOD OF	COMPLETIO	N		L	Production Int	terval		
Vented Sold	Used on Lease		Open Hole		erf. 🔲 (Dually Comp.	Commingled	· · · · · · · · · · · · · · · · · · ·	
			Owner (open	~··y/				REC	EIVED

JAN 1 9 2003 KCC WICHITA

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

INVOICE

RECEIVED Invoice Number: 099267

JAN 19 2006

Invoice Date: 11/07/05

KCC WICHITA

Sold Brungardt Oil Company

To:

P. O. Box 871 Russell, KS

67665

Cust I.D....: Brung

Total...:

P.O. Number..: Heffel #1 P.O. Date...: 11/07/05

Due Date.: 12/07/05 Terms....: Net 30

ONLY if paid within 30 days from Invoice Date

Item I.D./Desc.	Qty. Used	Unit	Price	Net	TX
Common	225.00	SKS	8.7000	1957.50	т
Gel	5.00	SKS	14.0000	70.00	_
Chloride	7.00	SKS	38.0000	266.00	
Handling a	237.00	SKS	1.6000	379.20	-
Mileage	14.00	MILE	14.2200	199.08	E
237 sks @.06 pe	er sk per mi		2112200	-	_
Surface	1.00	JOB	670.0000	670.00	Е
Mileage pmp trk	14.00	MILE	5.0000	70.00	Ē
Rubber Plug	1.00	EACH	100.0000	100.00	T
All Prices Are Ne	t, Payable 30 Days Fo	ollowing Sub	total:	3711.78	
Date of Invoice.	after. Tax	• • • • • •	174.73		
If Account CURREN	T take Discount of \$	371.18 Pay	ments:	0.00	
()NLV it haid with	in 20 days from Trees	Co Dobo Mai	_ =		

3886.51

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

Wedlel - Dry.

Invoice Number: 099307

Invoice Date: 11/11/05

RECEIVED

Brungardt Oil Company To: P. O. Box 871

Russell, KS

67665

JAN 19 2008

KCC WICHITA

Cust I.D....: Brung P.O. Number..: Heffel #1 P.O. Date...: 11/11/05

Due Date.: 12/11/05 Terms...: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	Net	TX
Common	111.00	SKS	8.7000	965.70	Т
Pozmix	74.00	SKS	4.7000	347.80	${f T}$
Gel	12.00	SKS	14.0000	168.00	
FloSeal	47.00	LBS	1.7000	79.90	T
Handling	197.00	SKS	1.6000	315.20	Т
Mileage min.	1.00	MILE	180.0000	180.00	Т
Rotary Plug	1.00	JOB	750.0000	750.00	T
Mileage pmp trk	13.00	MILE	5.0000	65.00	Т
Dryhole plug	1.00	EACH	35.0000	35.00	T

All Prices Are Net, Payable 30 Days Following Subtotal: 2906.60 Date of Invoice. 1 1/2% Charged Thereafter. Tax...: 212.18 If Account CURRENT take Discount of \$290.66 Payments: 0.00 ONLY if paid within 30 days from Invoice Date Total...: 3118.78

Day 2828.12 Dist. Price,